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productivity theory of wage determination.
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Note : Answer five questions in all. Question No.
1 is compulsory. Attempt one question
from each Unit.

T UTa Y & IR QNfote| 5= 6.1 3ifFard 7
TS 3Pls o TP T DI
1. Answer the following in brief: 4%x10=40
(i) Explain the problems associated with
(a) Hidden Action

(b) Hidden characteristic of a good.
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Explain concept of market signaling and

its relevance.
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Specify the category of merger in the fol-

lowing cases :

(a) Merger of Regional Rural Bank with
the Sponsor commercial bank.

(b) Merger of Lenovo computers Lim-

ited with the Nokia Mobile Phones

Limited
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each case under constant sum game. 15
fags wd i@ gimal # =R aasd| Jds T°m |
foor TR 3rgeraH Ffaher ReR AT Wel § &1l 7

Discuss the game played under uncertainty and
how the learned behavior of the players help

to optimise the pay-offs. 15
rffaddar o Refa & @a ™ wa @ faggen s
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Unit-IV
THI-IV
Discuss the concept of potential surprice and

analyse its role in the determination of profit.
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Define Euler’s theorem and explain marginal
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(ix) Trade relation between America and
Mexico is shown by the following pay-

off matrix:

3MRPT vd HAfFadr & AR Gre==il &I
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America's Decision
3R &1 ol
Strategies Low Tariff Hight Tariff
gfendt I Yd | I YLD
Mexico Low Tariff 25, 25 10, 30
Decision | =7 b
#fgdr | High Tariff | 30, 10 20, 20
@ ol | 3T e
Determine document strategy of each
player as well as Nah equilibriums.
(x) Does the Nash equilibrium in the above
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pay off matrix reflect nation’s welfare and

is consistent with the WTQO's polices.
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Unit-I
THR-1
Examine consumer behaviour under
uncertainity with the help of Neuman-
Morgenstern utility index. Is the index ordinal

or cardinal in nature. 15
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Distinguish between incomplete information

and asymmetric information. Discuss ‘Lemons
problem’ in the context of asymmetric infor-

mation and how it could be overcome. 15
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Unit-II

ThIR-11
Discuss the role of cartel in the following situ-
ations: 15
(a) Joint profit Maximization.
(b) Sharing of the market
frfoRea sRfftal & 3aes g o e o
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Define Limit Price. How economics of scale

barrier affect limit price. 15
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Unit-III
THIR-111
Distinguish between pure and mixed strate-

gies. How optimal pay-offs are determined in
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(iv) Explain the difference between backward

and forward vertical merger.
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(v) Define transfer earnings.
EITCRUT 3T I IR Bifor |

(vi) Why is liquidity preference curve slopes

downward?
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(vii) Determine the limit price if condition for
entry and competitive price are unity
afe yaer @l o v wefars e T & ar
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(viii) Show that dominant firms demand curve
is limited under collusive oligopoly.
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